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SECTION-1| GENERALAPTITUDE TEST | 25 QUESTIONS

Read the given statements and conclusions
carefully, Assuming that the information given
inthe statements is true, even if it appears to

9LE50005

be at variance with commonly known facts,
decide which of the given conclusions
logically follow(s) from the statements.

Statements:

|. Some lions are cats,

2. Allcatsaretigers.

3. Notigerisanelephant.
4.  Allelephants are rabbits.

Conclusions:

I) Sometigersare lions.
1))
M) Some cats are elephants,

Noelephant is a lion.

IV) Some tigers are cats.

(A) Onlyconclusion Il follows.

(B) Only conclusions | and 111 follow.
(C) Onlyconclusions lTand I'V follow.
(D) Only conclusions I and IV follow.

Select the option that can replace the
question mark (7) in the following series.

SUPER, PSRUE, RPESU, ERUPS, ?,
SUPER

(A) PSRUE

(B) UESRP

(C) EURSP

(D) USERP

Ql

Q2

f&g mTu gert affv fFrepet @1 e 9 ud |
I8 7 B & @t § ) s
Wl &, Hel € g8 9 s aedf 9§
e 8 @t | 8, a8 fola d & Ry
e et # 9 B /W P e
WY W B B AT I B/
B

H:

. o fs, fRAfeedr &)

2. o fafeeat, amg g1

3. @rg 0 g, el T 2
4. Wi el wv g
frrep:

n o T, fE €

1y =g & =eh, fiw 78 &)
Iy o Rt sel &)
IV) ®o am, fafewEr €1

(A) daa e 11 srpawer awar §1

(B) ®ad femd [ afiR [l s/ &
gl

(C) Faa Fremd 11 siv 1V sraRor &

a8 Rees g o - & 7 spwen #
weAfEs (7) & uforenfoa & waa 8

SUPER, PSRUE, RPESU, ERUPS, 2,
SUPER

(A) PSRUE

(B) UESRP

(C) EURSP

(D) USERP
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Select the number that can replace the
question mark (7) in the following series.

51,44, 49,42, 47,40, 45,38, 7
(A) 31
(B) 33
(C) 43
(D) 45

The ages of two friends Ramesh and Rajesh
are in the ratioof 4 : 3.

Which of the below pieces of information 1s

additionally required to answer what the

average age of Ramesh and Rajesh is?

(A) Ramesh is 10 years older than Radha
who is the younger sister of Rajesh.

(B) The age difference between Ramesh’s
father and Rajesh’s mother is 8 years.

(C) 6 yearsago, the ratio of the ages of
Ramesh and Rajesh was3: 2.

(D) Ramesh was |2 years old when Rajesh
was in senior KG in his school.

Five friends A, B,C, Dand E are seated ina
row and are watching a movie. A and Dare
scated at the extreme ends while B is seated
exactly in the middle.

What additional information is required to

answer who is seated nextto A?

(A) B isseated immediately next to both C
and E.

(B) Cisnotseated nexttoD.

(C) Cisseated nextto B.

(D) B isseated nexttoE.

LM-B
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ag wem g W A @ v gaen |
WeAfE (?7) B wioenfu & aad & |

51, 44, 49, 42, 47, 40, 45, 38,7
(A) 31
(B) 33
(C) 43
(D) 45

< fr oy ofR Yol @ A 403 @
I H B

A @ 1 M 9 AEEe 39 U @

I 29 @ forv aifaRes w0 | ymwas

2. fo5 v afr o 9 aftea o @@

{4

(A) O, wEn ¥ 109 a9 & 1 e
W BIEl 984 B |

(B) v & faen afw worw &t 4 & 4=
AR & R g A 2

(C) 6734 qd, 30w 3R WY Bl AR B
U 3:290)

(D) wa wwote 3 fenen d @
Sl W o, a9 I 1294 H oon)

4" fim A, B, C, D3l E us e # 42
# afw fivem 2@ @ €1 A3l D sifem
BRI T 43 & wald B e 9 | do1 87

T8 IR 24 @ forv fre st st

& AEFA &, fF A D T | 1 do

g7

(A) B,C3lR ESHf & 8% @va # da1
2l

(B) C,D® awel # =8 &o1 &1

(C) C,B% a7 # a1 B

(D) B,E® amal # &a71 £
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Q8

A is the brother of B and son of Cand D. E
i5 the husband of B and father of F,

What additional information is required to
answer how C is related to A?

(A) Bistheonly daughter of C and D.
(B) D isthe maternal grandfather of F.
(C) Fisthe only grandson of C.

(D) AisthesonofC.

In a certain coded language, INCOME is
written as HPENOG. How will be SAVING
written as in the same language?

(A) RCVHPG

(B) RXCHIP

(C) RCXHPI

(D) RCXHPG

Ifin a coded language MIND is written as
IMDN, how will be GAME written as in
the same language?

(A) GEMA

(B) MEGA

(C) AGEM

(D) EGAM

LM-B
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Q6

Q7

Q8

ABHIWE 2 alRCalR DS 4T 8| E,
B& ufty aflw Fa faem &)

98 O &4 & fow o @ afRe
WS @) FaEea 6, [F CH AD
e T Hay 87

(A) B,C 3R D& goarh a8 81
(B) D,F @ =1 &/

(C) F,C &1 sdheital O &1

(D) A,C& 2T 8|

(# Fffma @2 Wt 4, INCOME &1
HPENOG & &4 # foawm wmem #)
SAVING &1 31 @ wmar # fsm & #
feran smea?
(A) RCVHPG
(B) RXCHIP
(C) RCXHPI
(D) RCXHPG

afe U @ AN | MIND &t IMDN &
w9 ¥4 foran omen €, 1 GAME &1 a1
e 9 A fe W A foran smo?
(A) GEMA

(B) MEGA

(C) AGEM

(D) EGAM
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9 In the given series, one number is wrong. Q9 & E HEel H, @ |l e 8| 98

Select the wrong number. Tl HeEAT g |

18,22, 44,48, 52, 100, 200 18,22, 44, 48, 52, 100, 200
(A) 48 (A) 48

(B) 52 (B) 52

(C) 100 (C) 100

(D) 200 (D) 200

Q10 Selectthe number that will come next in the Q10 8 Hem i W Frafofes g 4

following series. 3T T |

3,4, 13,38, 87,168, 7 3,4, 13,38, 87, 168, 7

(A) 199 (A) 199

B) 289 © (B) 289

(C) 203 (C) 203

(D) 259 3 (D) 259 |
QI1 IfFXAY implies X7 + ¥? QI ufg XAy ®rgmead x? +y2 @

XBY implies X7~ ¥? XBY &7 aregd X?— Y8

XCY implies (X + ¥J? XCY @ aread (X + ¥) &

XDY implies (X — ¥ ) then, XDY &7 argd (X - V) &,

Which of the following is TRUE? al Fr=fafea & @ oar e &7

(A) (7C3)-(6D6)=-100 (A) (7C3)-(6D6)=-100

(B) (3C2)D(5B5)=624 (B) (3C2)D(5B5)=624

(C) (3A2)B(5C4)=88 (C) (3A2)B(5C4)= 288

(D) 216D256 =~1600 (D) 216D256=—1600
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QI2

Q13

If P + ) means that P is the sister of Q,
P + Q means that P is the mother of Q and
P = ) means that P is the brother of Q,
which of the following means A is the aunt

of D?

(A) A+ ExD
(B) FrA+ExD
(C) A+B+CxD

(D) AxE+BxC+D

Select the option that is related to the third
term in the same way as the second term is

related to the first term.

Pressure ; Pascal ;; Current : 7

(A) Volie
(B) Joule
(C) Want

(D) Ampere

LM-B
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Q2 R P+QH A E B PLQF amn

P+Q@Tael 2 5 PQ &t #f & afw

PxOQ@ 3t e PQ&F g & o
Freferfera & & oot & 5 A, D&
arel / |/l /&g /et /g /e 87

(A) A+ ExD
(B) F-A+E=D
(C) A+B+CxD

(i A<E+B=xC=D

a8 e 1 o G uE 9§ & oWl
webTe Hafer €, fora wer gav e uEd
W ¥ wHafea g1

gd : yed - fAgga-am : ?

(A) T

(B) 9&

(C) T

(D) vftgaw
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Read the given statement and conclusions
carefully and select which of the conclusions
logically follow(s) from the statement.

Statement:

The changing trends in Indian cinema has
witnessed big budget star powered movies
doing poor business and a lot of small budget
content driven movies eaming good business.

Conclusions:

(i) The low budget movies are huge hits
due to their story content irrespective
of the star cast,

(i) The big budget movies are flop at box
office for casting big stars.

(A) Onlyconclusion (i) follows.

(B) Onlyconclusion (ii) follows.

(C) Both, conclusions (i) and (ii) follow.
(D) Weither conclusions (i) nor (ii) follow.

Village P is to the east of village Q.
Village R is to the north of village P.
Village S is to the west of village R.
Village S is towards which direction of

village P?

(A) South-cast
(B) South-west
(C) Morth-west
(D) North-east

48305516

Ql4 fRy v By aliv Frepd o a9 § W@

N Ffte =¥ @& a9 /@ et
ithd Y | HUT BT ATAN BN
/% B

il i

aReig A A gge N 59 9
TaEel & v & B Rent (meen) @
43 quie 9 fived WYE FRER &Y 6
& 3R fug—awg smnfRa B aoe
&3 fhed afear FNER & W &)

foysend:

() Rl (FaeRl) & o= 31 afte
HE A o0 BY 39 Py qeEl &
SR BIC Fuic & fhed i 66l
@ el

(i) 2 Fart (Farer) & 999 & RO
73 gure @ fve diew afifhe w
Jawd VE |

(A) @hae P (i) srrevor s 2

(B) waet Tremy (ii) IR0 & & |

(C) v, Frend (i) 3R (ii) arao &
£l

(D) = @i Fresd (i) =1 €1 (ii)) ST Hva
21

T P, Q@ qd | 8| g R, G P&
g # &) Tig S, g R & ufdaw #§ &)
Tita S, 7 P fva Rew o oiw &7

(A) aféror — g
(B) =féror — uf¥am
(C) TR — uf¥=m
(D) TR — ¢
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Q16 Select the option that is related to figure (C)

Q17

in the same way as figure (B) is related to
figure (A).

bﬁ_*bHOfr_?
*QI' e o

L]

o
=i

(A)

©

=
od ool lod oo
OO0 OO |IO&# 00O

e

Identify the odd word.

Square, Triangle, Rhombus, Sphere,
Parallelogram, Rectangle, Circle, Pentagon,
Hexagon

(A) Triangle

(B) Sphere

(C) Circle

(D) Hexagon

LM-B

Q16 T% fwes g, Rt sl (C) & W

QI17

S dw @ waw 2, Sk s (B) @t
S/ (A) & wrer 8

Aol [®p]..[09,,
#bj@d |8 o’
€

1A} i8)

(A)

B
o loo
00 |IO&# |00

od ko
O O

(©)

(D)

o w1eg @) gEEE o |

T, Pnge, wrep{w, Men, wWiae
AP, T, g, Y, B
(A) Prgw
(B) e

(C) g%
(D) wed

SERIES-B-D
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Q18 The listgiven below contains figureswhich Q18 +ta & 7% 3= # U1 anferdt wiwfem

‘ have something in common. 7 fort @p owafrsar (Gmr) &)
Cylinder, Cuboid, Sphere, Prism, Pyramid, oo, ', T, e, s, w9
Cube

e faw v w4 9, w0 Res &

From the below given options, identify the ugArE oY [T 59 gEl & H & WY
one that can be classified as part of this list. E’Fﬁ"@ﬁ fdar o wgar B

{A) Rhombus (A) FHE S

(B) Cone (B) 7@

(C) Square (©) =@f

(D) Parallelogram (D) HHIER AGHA

Q19 Study the Venn diagram given below and Q19 =4 58 TU 99 ameg @7 aeaE &Y el

identify which option is correct with reference gear! 6 @ w1 fAeey ava & ged o
to the diagram. WEl B
@
Aeroplane argqr-
(A) Some birds are not aeroplane. (A) EB well arga e €|

(B) Allaeroplanes are birds. (B) i argar el 81
(C) Allbirdscan fly. (C) il wefi 98 W €|

(D) Some aeroplanes can fly. (D) FT TYTH T FEhd & |

d LuaSbw

B L o R I R T e Iy
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Q20 Two positions of a dice are shown below. If Q20 TS w31 91 Rafoet S ewth o &)

number 6 is exactly opposite to number 3. Ife w@n 6, ve 3% &1 fAude & a
then which number is exactly opposite to Wy 2@ de famim #F @ gemn
number 27 BIT?
AR l
(A) 1 (A) 1
(B) 4 (B) 4
(€) 5 (C) 5
(D) 6 D) 6

Q21 Inthe figure depicted below, if the pentagon Q21 #r W wF anpfa A 2 dww @

is rotated anti-clockwise 270° once and the U AN aHEd 270° gar omer # e
triangle is rotated clockwise 270° twice what Frger #1 21 a/ sféomadd 270° gamm
will be the final figure ? ST 2, o uRenfie snefe Bl e

)

(A) (A)

(B)

(B)

(€)

(D) (D)

BEBE
BE A ®
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Q22 Selecttheoption thatisrelated tothe third 2 Q22 ¥ fawey g+, o R W & W

word in the same way as the second word is
related to the first word.

Kitchen : Refrigerator :: Bathroom : ?
(A) Television

(B) Geyser

(C) Microwave Oven

(D) Sewing Machine

Q23 Inaceraincoded language, iFBRAKES is
written as TAGPNX and CLUTCH is
written as IBEJWR, then how will be the
word WHEELS written as in that language?
(A) TVMGFD
(B) TVNEHB
(C) XRIJHB
(D) TVNFHB

Q24 Inacertain coded language, if RAMESH is
written as TBNFTJ and MITALI is written
as NJVBNJ, then how will be the word
RANBIR written as in that language?

(A) SBOCIS
(B) SCODIT
(C) TBPDIT
(D) TBPCKS

Q25 Deepika is the mother-in-law of Privanka
whose husband is the father-in-law of the wife
of Ranbir. Salman is the only son of the
husband of Deepika while Katrina is the only
daughter of the mother of Ranbir. How is
Salman related to Katrina?

(A) Husband

(B) Brother

(C) Father

(D) Grandfather
LM-B

21066
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Q23

Q24

Q25

oi I B Hay &, O gEY el @
g I @ el |

g weias - R ?
(A) cehifaem

(B) wr W (frow)
(C) WiEgmiaa 3t

(D) faerg wei

&t ffdem o W 4, 72 BRAKES
P TAGPNX & ®q % forar wrar 2 aiv
CLUTCH ! IBEJWR & &9 # fomar
WTeT 8, of wes WHEELS @7 e w0 &
forgr wrgm?

(A) TVMGFD

(B) TVNEHB

(C) XRJIJHB

(D) TVNFHB

ferell Mf¥eer e wmr 4, af RAMESH
@ TBNFT) & w9 % ferar wrar & afie
MITALI @1 NJVBN] & w9 # forar e
&, °1 = RANBIR &1 5w wu # foramn
GTT?

(A) SBOCIJS

(B) SCODIT

(C) TBPDIT

(D) TBPCKS

B, e 1w & Rms oft, widie
DU @ WY & | WoaE, SIftE @
uft @1 gHeltar de1 & waEfs @l
MR D A B FHelkdl 9ol 8 | TAAH
1 el | T Gay &7

(A) ufer

(B) g

(C) faem

(D) =&
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Q26

Q27

Q28

Q29

LM-B

SECTION-2| GENERAL KNOWLEDGE | 50 QUESTIONS

When did the Muslim League join the interim
government under the leadership of
Jawaharlal Nehru?

(A) 2 September 1946

(B) 14 September 1946
(C) 24 October 1946
(D) 14 November 1946

Who was the chairman of Boundary
Commission for India and Pakistan which
was announced by Lord Mountbatten in
19477

(A) Lord Curzon

(B) Lord Wavell

(C) ClementAttles

(D) Cyril Radcliffe

The latitudinal extent of Indiaisfrom
northto north,
(A) 8°2°;37°4
(B) 8°4".37°¢"
(C) 8°7;37°9
(D) 8°3°;37°%

Which one of the following rivers does NOT
fall in the Gulf of Khambhat?

(A) Mahi

(B) Sabarmati

(C) Koyna

(D) Tapi

4HTHE018
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Q26

Q27

Q28

Q29

TAEYEIE TEe @ Agd § qieew o,
3Ry WWeR | Fa wfwfem g€ 9P
(A) 2 fieaw 1946

(B) 14 faw 1946

(C) 24 I 1946

(D) 14 7Tga¥ 1946

1947 % i€ AEcded g Hiffa wRa
i wifdwmm & for @m s &
Heney B 47

(A) @i Bl

(B) i daa

(C) #Felie geol

(D) fafa Yefees

e B g R a9
IR 05 E|

(A) 822°;37°4°

(B) 8°4°;37°6°

(C) 87 ;37°9"

(D) 8°3';37°%

fFrefafam o | o @ 5 @oa &
ardl i 1 e 27
(A) W&
(B) TN
(C) =g
(D) et
SERIES-B-D




Q30

Q31

Q32

Q33

LM-B

Which is the highest point of the Meghalaya
Plateau?

(A) Khasi-laintia Hills

(B) GaroHills

(C) MikirHills

(D) Shillong Peak

As per census report of 2011, which of the
following states does NOT have tribal
population?

(A) Harvana

(B) Goa

(C) Gujarat

(D) Bihar

The Bhutia tribe, widely known for their
traditional grandeur, art and cuisine are found
in state.

(A) Sikkim

(B) Nagaland

(C) Arunachal Pradesh

(D) Trpura

Which one of the following states has the
highest population density according to the
2011 Census report?

(A) West Bengal

(B) Kerala

(C) Uttar Pradesh

(D) Bihar

14

Q31

Q32

Q33

WHTEd 901 # Had S 9d 31 @
g?‘

(A) TEi—oafrn ysifed

(B) TR usifai

(C) ™fdw usife

(D) Rrai =

2011 @ s Rud @ e,
frrafafeaa 9 @

AT el B?

f&a g # Seonda
(A) BRI #

(B) ¥ #

(C) oI #

(D) fasm %

Hfear sonfy, o anelt urafles era,
&l 3T TE-9d @ e age w9 R
o e B, e won o uid w82
(A) Fufdsn 4

(B) AT Tieis A

(C) arsuias gy ¥

(D) g #

2011 @ S RO @ s,
freforfiae & fve oo o e
O warys e

(A) uf¥=m e

(B) v

(C) STX "=y

(D) faEw
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Q34

Q35

Q36

Which region in Andhra Pradesh is actively
engaged in the production of petroleum?
(A) MahanadiBasin

(B) KrishnaGodavari Basin

(C) Narmada Basin

(D) Cauvery Basin

Mount Elbrus, one of the highest peaks in
Europe, is situated in

(A) Germany

(B) Switzerland

(C) Russia

(D) Ukraine

Which article of the Constitution of India
deals with ‘equality before law'?

(A) 14

B) 13

(C) 17

(D) 26

LM-B

Q34

Q35

3ty wew & Fraforfaa 94 9 &9 @ o
wfda w9 9 Ugifm & ST | o
27

(A) wETE! aR

(B) T e affs

(C) et el

(D) w1 af=

N & Feee udd st 4 | e Aee
ToaH HEl e 87

(A) T

(B) faguels

(C) &%

(D) Zebe

Q36 Wy wfaus & Frefefas 4 9 899

1 e fAEE wwar I eee @
[HA AT | et 87

(A) 14

(B) 13

(€) 17

(D) 26
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Q37

Q38

Q39

LM-B

Provisions regarding the promotion of
international peace and security are outlined
asapartof  ofthe Constitution of
India.

(A) Fundamental Rights

(B) Directive Principles of State Policy
(C) Fundamental Duties

(D) The States

Who is the appointing authority of the
Governor of a State in India?

(A) Prime Minister of India

(B) ChiefMinister of the concerned state
(C) The President of India

(D) The Central Cabinet headed by the

Prime Minister of India

Who was appointed as the National Security
Advisorof Indiaon 31 May 2019?

(A) MK Narayanan

(B) Brajesh Mishra

(C) AjitDoval

(D) JN Dixit

Q37

Q38

Q39

SAWEEE Wil 3R G P g oA
d wel yreum, AR W@iuE @
fr=fefaa # @ frws va T & wu 4
Sfeafian &

(A) e aftrar

(B) w9 & Hify Fress fogi

(C) #ifers o

(D) wroui

HIRa ¥ @ wou @ wegura &1 g

wiftrsr Fr=fafea 4 4 s g 87

(A) ARG & WETHAT

(B) Wit ¥57 & FErT!

(C) Wia o wrsgafa

(D) WG & WEIIHAl &I IELERT H Sl
LIECET]

31 9§ 2019 B ARG B A G
HATEEHR & w4 # o e far

o1?

(A) THD, ARV
(B) wwiy s

(C) arofia M
(D) S difée




——

Q40 Which of the following statements is
INCORRECT?
(A) The procedure for impeachment of the
President has been described in Article
61 of the Constitution of India.
(B) Impeachment motion can be presented
in any house of the Parliament.
| (C) Impeachment resolution can be passed
by a majority of not less than two-thirds
of the total membership of the House.
(D) The President could be impeached for
violation of national security.
Q41  Who was appointed as the Finance Minister
of Indiaon 31 May 20197
(A) Arun Jaitley
(B) PiyushGoyal
(C) Nirmala Sitharaman
(D) Rajnath Singh
| Q42 According to a G-20 surveillance note,
| prepared by IMF in June 2019, India’s
i economy is expectedtogrow __ in
2019.
(A) 6.3%
(B) 7.3%
(C) 8.3%
(D) 93%
LM-B
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Q40 F=ifafan 4 9 F9 @ 7u= yaa &

Q42

(A) ¥Ra & wfEE & s@e 614
wguft @ wwifigm @ ufsar @1
aviw fsar T &)

(B) weifarT v w@ae @ fad of
wes i wege fRr o waen &
(C) eIy uRaT, e @) G wewal
& -ferd 9 afts agna @ wilka

fasar = W 8)

(D) wrguft TR Uiy e @ Goeiud @

fore s = o wwar &)

31 74 2019 F wvd & faw w5 @& wu o
Fr=foftaa 4 @ 5w Prgan s
or?

(A) 3o Sicwll

(B) gy M

(C) Frien Hrarom

(D) W fHE

9 2019 % AETATH. (IMF) gra daw
W-20 P Raolt & s, 20199
WINE @1 Jeferawen He e e ag
& i &2

(A) 6.3%

(B) 7.3%

(C) 8.3%

D) 9.3%
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Q43

Q44

Q45

LM-B

Mahila Shakti Kendra (MSK) under the
Umbrella Scheme Pradhan Mantri Mahila
Shashaktikaran Yojana (PMMSY') has been
approved for implementationduring___ .
(A) 2016-17
(B) 2018-19
(C) 2017-18

(D) 2015-16

Mahatma Gandhi was against__ of
India.

(A) slow industrialisation

(B) rapid industrialisation

(C) Britishmode of industrialisation

(D) American mode of industrialisation

Who among the following was swom in as
Chief Minister of Arunachal Pradesh on 30"
May 20197

(A) Jarbom Gamlin

(B) Kalikho Pul

(C) PemaKhandu

(D) Nabam Tuki

GiZvicty
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Q43 wurH #Afgar wofdasyor gra

Q44

Q45

(PMMSY) & aieifa safgen ofde &
(MSK) 1 friferfiaa 4 & forg amafy &
a7 srfwmE & fav semife
T 87

(A) 2016-17

(B) 2018-19

(C) 2017-18

(D) 2015-16

W T TRa S & g o)
(A) wE afrenfiraigor

B) i sfenfiraiaso

(C) shrenfirdravor & fafew vgfy
(D) sienfirafiavor @ amfa) ugfy

fFfafaa 4 @ e 30 78 2019 @t
IOV Wa¥l @ JEIHA $ WY § 9
BV D7

(A) wREm e

(B) wferar get

(C) T wig

(D) =& gl
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Q46 Which of the following cyclones badly
affected the coastal districts of Odisha in May
2019?
(A) Cyclone Sani
(B) Cyclone Fani
(C) Cyclone Tani
(D) Cyclone Kali

Q47 Which one of the following teams won the
Indian Premier League (IPL) trophy, 2019?
(A) Kings XIPunjab :
(B) Chennai Super Kings
(C) Sunrisers Hyderabad
(D) Mumbai Indians

Q48 In May 2019, the Central Government
created a new ministry by merging the
Ministry of Water Resources, River

. Development and Ganga Rejuvenation and
the Ministry of Drinking Water and
Sanitation. What is the name of the new
ministry that has been formed as a result of
the merger?

(A) Ministry of Jeevan Shakti
(B) Ministry of Swachcha Ganga
(C) Ministry of Jal-Nadi Vikas
(D) Ministry of Jal Shakti

LM-B

Q46 g 2019 % Fr=ferfian § 9§ e T@an

Q48

LA T

4 aifem & o foel @ g8 ovE
wifaa famanr?

(A) =emar |

(B) e Wi

(C) =ahard arF

(D) wsare Hredl

gfeg diffmm ofr (IPL) g1, 2019
froaferfiaa & 9 fem & 3 oiel?

(A) fbma geras dome

(B) A~ guv fow

(C) TREeY 2evEg

(D) Hag &fedw

wE 2019 ¥, @ VAR A el FEEH,
741 fa@ afR T TRy AT afe
aoTe 3R Yaesd #aTed & Ao
Us 91 AATAy 991491 fawa @
ORISR W AT WA 4T T e
THSHI A T E?

(A) ot oifda sarery

(B) = T HAEY

(C) wa—=1a1 faem W=y

(D) oI ifdeT H=Eg
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Q49

Q50

Q51

LM-B

Which country conferred its highest honor,
the *Nishan lzzudeen” on Indian Prime
Minister Narendra Modi in June 20197
(A) Srilanka

(B) Maldives

(C) Nepal

(D) lsrael

is a famous 49-year-old veteran
Nepali Sherpa who scaled Mount Everest
for the 23" time in May 2019.
(A) Tenzing Sherpa
(B) KamiRita
(C) AppaSherpa
(D) Phurba Tashi

India is estimated to have produced

million tonnes of food grains (rice and
wheat) during 2018-19.

(A) 18337

(B) 383.37

(C) 283.37

(D) 483.37

Gliviicw
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Q49 T 2019 H, MR gUHE T HiE

Q50

Qs

#1 frfefag % @1 @9 3o 3 anm
wateg \arH, P ssaEs | wenfa
fepar er?

(A) Hreiet

(B) Hrereta

(C) e

(D) gummEe

_ u® ufhg 49 adig S
urelt ¥wewT & foe g 20199 23% aw
Aee Ee @ 9e IR 9t 2

(A) TR 9aT

(B) &pfl e

(C) 31 ¥RuT

(D) xaT @t

2018-19 & SR WRG §RT @ fbad
fafers &1 o (e ofi A1§) @
goares fby W @1 A 87

(A) 18337

(B) 38337

(C) 283.37

(D) 48337

SERIES-B-D



Q52 Which state produced the largestamountof Q52 2017-18 % ffafa # & 5w v A

rubber in India in the year 2017-187 e A wa Afte vaw & Saree e
(A) Kerala ; (A) FvE

(B) Andhra Pradesh ‘ (B) ai¥l WaT

(C) Odisha (C) anfem

(D) Karnataka (D) e

Q53 Whichofthe following share is contributed Q53 WRA @ WHd el IaUre, 2019 |

by the Agriculture and allied sector in the 3R wag &3 g™ o e wftrwe W
India’s gross domestic products, 20197 @1 AVTEF W g3 87

(A) 14.39% (A) 14.39%

(B) 29.73% (B) 29.73%

(C) 15.87% (C) 15.87%

(D) 31.46% (D) 31.46%

Q54 What is the child sex ratio of Uttar Pradesh Q54 ol RO 2011 $ AR, IR Uew

as per Census report, 20117 i ara fermeama @ar 87
(A) 898 (A) 898
(B) 912 B) 912
(C) 916 (C) 916
(D) 902 (D) 902
Q55 Whichof following valleys is NOT situated Q55 frifafaa & 9 @ @ o), Baea
in the Himalayan Mountains? i e # fem @l 87
(A) Karewas (A) @A
(B) Bhagirathi (B) =il
(C) Kathmandu (C) ®rowig
(D) Araku (D) 3T
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Q56 Who was the first woman Governor of a
state in Independent India?
(A) Sharda Mukherjee
(B) Vijayalakshmi Pandit
(C) Margaret Alwa
(D) Sarojini Naidu

Q57 According to IMD World Competitiveness
Rankings, 2019, Indiaranked ___in
world’s most competitive economy.

(A) 14™
(B) 24™
(C) 43¢
(D) 51

Q58 Bombay Stock Exchange appointed
as its first independent woman
director in May 2019,
(A) Jayshree Vyas
(B) Jayati Ghosh
(C) Rohini Pandey
(D) DevakiJain

LM-B
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Q56 o wRd ¥ 50 v & gum afken

Q57

Q58

EaTE FiA 47
(A) IvET ol
(B) fawgash gfgn
(C) wrike arem
(D) T g

IS (IMD) frea whves 3w 2019
% IR, i & wite st
aefoqqeen & WAl A W 4
W e R &

(A) 14

(B) 24*

(C) 43*

(D) 517

TERAWATARA T 20190 @
39 wer oA wee Fve @ w9
Fgaa fasm)

(A) St s

(B) vl wy

(C) Wfedht wiz

(D) <@ W=
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Q39

Q60

Q61

Which of the following keyboard shortcuts
displays the Start menu in the Windows
operating system?

(A) Ctrl+Z

(B) Alt+Spacebar

{C) Ctrl+Esc

(D) Alt+ Enter

Who among the following is known as the
*father of computing'?

(A) Charles Babbage

(B) Tim Bemers Lee

(C) Philip Don Estridge

(D) JamesGosling

Windows 10 was first released as a preview
on which of the following days?

(A) 1January 2013

(B) 12July2014

(C) | October 2014

(D) 12 December 2015

LM-B

Q59

Q60

frfoRaa 3§ 917 0 Boll ved edg-y
(@ a1 wiidwe) A waes yoned
(@R Riew) A wrd ¥ B <t
87

(A) Cirl+Z

(B) Alt+ Spacebar

(C) Ctrl+Ese

(D) Alt+Enter

Frafafaa & @ foa afm &1 sgfen
® oS B ®Y # oA o 87

(A) T qa

(B) fow a=ie o

(C) Fsfer M TRgw

(D) = TR

frar 10 B1 ved U@ yafaeie & 9
e # @ for fam ond R
o7?

(A) | ST=a41 2013

(B) 12 9@TE 2014

(C) 1 gAY 2014

(D) 12 fR¥aR 2015
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Q62 Everyyear, inwhich of the following districts Q62 IR Yo & F=ifeifeye 4 9 fve @ &

Q63

Q65

of Uttar Pradesh is Bateshwar Mela
organised?

(A) Kanpur

(B) Varanasi

(C) Mathura

(D) Agra

What is the suitable time of sowing the
indigenous variety of cotton (kapas) in Agra
district of Uttar Pradesh?

(A) Firstformight of April

(B) Mid-April

(C) First fortnight of May

(D) Mid-May

As per Census 2011, what is the population
growth percentage of Uttar Pradesh?

(A) 20.21%

(B) 20.23%

(C) 2030%

(D) 20.32%

In which of the following districts of Uttar
Pradesh is the Union Government's opium
factory located?

(A) Varanasi

(B) Ghazipur
(C) Ballia

(D) Kanpur

LM-B
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Q65

w9 ¥R A s B o
8?

(A) &TTYY

(B) ammord

(C) wg
(D) TR

ST 539 @ I fore A o (wa) @
@l e @ g @1 Suge W
Frefafaa % & o w 82

(A) 3 &1 IS TEATSI

(B) et &1 ey

(C) 7 1 Yga ywarsr

(D) % &1 ey

ad 2011 @ SFVET B IIER, TR
W @ S o1 giy witea @ &2
(A) 2021%
(B) 2023%
(C) 2030%
(D) 20.32%

SR wew @ Frmfafe 4 A fve i
&% WYPR B AW B B R &7
(A) TR

(B) ATAIgY
(C) afern

(D) FFgR
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Q66 In which of the following cities of Uttar Q66 SvR W2W & Fr=ifafas 3 9 fvw wer

Q67

Pradesh is Modern Coach Factory, a rail
coach manufacturing unit of the Indian
Railways, located?

(A) Racbareli

(B) Mughalsarai

(C) Prayagraj(Allahabad )

(D) Lucknow

Kashi is a famous Indian pilgrimage centre
situated in Uttar Pradesh. It is located on the
banksofthe ____ river.

(A) Gomti

(B) Saryu

(C) Yamuna

(D) Ganga

In which of the following cities of Uttar
Pradesh is the Government College of Arts
and Crafis located?

(A) Lucknow

(B) Kanpur

(C) Varanasi

(D) Gorakhpur

LM-B

Q67

Q68

i avdm @ @ s fmin g,
T Y T B (Hie de Bad)
R 87

(A) Taaveh

(B) e

(C) VPRI (F@TeETs)

(D) F&7s

IR wew # fem ol v uftg Wil
thef @z & | 78 Fr=fofaa 4 9 e =
@ e v Rug &

(A) W

(B) ¥y,

(C) T

D) T

I WY @ Prafafea 4 @ e o
% wwdE s @ fiien wefeaey
(ratiie ®fear affe rda s wvew)
e &2

(A) dET%

(B) FFIR

(C) ARV

(D) MRaEgy
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Q69

Q70

Q71

LM-B

Lucknow in Uttar Pradesh is famous for
which of the following handloom production
centres?

(A) Khariprinting

(B) Saris

(C) Chikan work

(D) Brocade fabric

Firazabad, a city in Uttar Pradesh, is famous
for which of the following industries?

(A) Saris

(B) Cement

(C) Glass

(D) Locks

Whoamong the following did NOT provide
assistance to the British in suppressing the
revoltof 18577

(A) Scindiaof Gwalior

(B) Begum Hazrat Mahal of Awadh

(C) Nizam of Hyderabad

(D) Sikander Begum of Bhopal

ARZTAD
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Q69 TTR WSF & @S wew Frafafea

2 e suavan (Fea) Soues &l &
forg aftg &7

(A) @@ fufen

(B) W=l

(C) famw= s

(D) ¥ & @92

IR WY o1 e e, Prefafee
# @ frw gam @ forg wfte 87

(A) Wl

(B) ¥ife

(C) &=

(D)

Fraforfaa # 9 feas 1857 & fle @t
TaH & faw sl &1 e vaE TEl
7

(A) Taiferar & Rifern

(B) 3@y & 4T EOINE HEA

(C) &=vme & Fram

(D) w91 faway Tm
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Q72 Thedecision toeffect the Partition of Bengal

Q73

Q74

Q75

was announced by the Government of British
India on

(A) 7August 1905

(B) 19 July 1905

(C) 16 October 1905

(D) | September 1905

Who was the leader of the Ghadar
Movement?

(A) Har Dayal

(B) BhagatSingh

(C) Madam Cama

(D) Shyamji Krishna Verma

Who started the Mahad Satyagraha in
Maharashtra in 19277

(A) Mahatma Gandhi

(B) Sardar Vallabhbhai Patel

(C) Dr. BR Ambedkar

(D) Jyotiba Phule

Which of the following Acts was based on
the Montagu-Chelmsford Report?

(A) Governmentof India Act, 1892

(B) Government of India Act, 1909

(C) Government of India Act, 1919

(D) Government of India Act, 1935

LM-B

45514219

a7

Q72 faftw wva wwaR A 1w & e &)

Q73

Q74

Q75

N @ & i N giwon wa &) o
(A) 7 3rTEd 1905
B) 199w 1905

(C) 16 IFET 1905
(D) | feiaw 1905

TSR G & S P o7
(A) & gum

(B) wra Rig

(C) #en &

(D) warait Fer ant

1927 #, wer; % #gre woare fee
e faan ur?

(A) ¥ETHT e

(B) ¥YER ToelilE uod

(C) &1 4. AR sHsF

(D) =T gt

fefafaa 4 ¥ a9 o afofay
Al eid Rue gv amafa ar
(A) "Ra wvar afRfias, 1892

(B) wva waRr AfRfaw, 1909

(C) Wi wwar e, 1919

(D) #ra wvar Ffefam, 1935
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Q76

Q77

Q78

Q79

LM-B

SECTION-3 | GENERALSCIENCE /ARITHMETIC | 50 QUESTIONS

The product of the LCM and HCF of two
positive numbers is 72 and the difference
between these numbers is 6. The sum of the
numbers is:

(A) 6

B) 12

(©) 18

(D) 24

Solve the following,

236-3.05+433="
(A) 364
(B) 334
(C) 343
(D) 333

IT87 » 647 x 40™ x 25" = 407,
then what will be the value of a?
(A) 05

B) 0.7

(©) 0.9

) 1

By which of the following largest number
should 2270, 3739 and 6677 be divided to
obtain the same remainder in each case?
(A) 1459

(B) 1469

(C) 1479

(D) 1489

A1 54710

28

Q76

Q77

Q78

Q79

2 g wERl @ dYen aEads
(LCM) afR wEem wnad® (HCF) @1
oG 72 # Al g9 w4 6 @
Jow & | Wit w1 v @ gen?
(A) 6

(B) 12

©) 18

(D) 24

frfofaa #1 ga

236-305+433=7
(A) 364
(B) 334
(©) 344
D) 333

Il 8 x 647 x 40™ x 25V =40°%, A a
&1 AF T BT

(A) 0.5

(B) 0.7

(C) 0.9

(D) 1

e fefa # wigen 9w o & @
fere wemait 2270, 3739 afik 6677

frpafafaa 4 @ 5w o @ 98 v 9
fanrfora fran o anfg?
(A) 1459
(B) 1469
(C) 1479
(D) 1489
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Q80 Xand Y are two compounds formed by the

Q81

Q82

combination of silver and copper in the ratio
of4:3and 4 : 7 respectively. Equal quantities
of these two compounds are melted and
mixed to form a new metal Z. Now metal Z
contains silver and copper in the ratio of:
(A) 41:33

(B) 41:36

(C) 33:41

(D) 36:41

If Raju earns 20% more than Vijay, by what
percentage is Vijay's earning less than that
of Raju?
(A) 25%
(B) ?%

40

(C) T%

20
(D) -_;%

A mobile was sold by two mobile sellers at
atotal gain of 45%. If the first seller sold it
at a gain of 25%, then how much gain
percentage did the second seller achieve?
(A) 20%

(B) 18%

(C) 16%

(D) 14%

29

Q80 Xafr Y& dfves & ot dwm: 4-3 3R

Q81

Q82

4: 7% rqum i wid) ofw AR & s |
a1 | g7 2t vt ) wm A @
frgemar va ¢ fy-urg z AT @
Sl & | 3, Pm-urg Z A wid) ik @i
T I F BT

(A) 41:33

(B) 41:36

(C) 33:41

(D) 36:41

g% w9, o @ 20% e ama st
o &, o Rom g sl s w
g afofa s @ qeen A fes st
a9 87

(A) 25%

50
(B) T%

40
(C) T%

20
(D) ?%

@ A, 3 Aage Rdast grr 45%
& {e @M 9 ¥4 T AR v
A 38 25% & @nT UY a7 8 O o

faben =1 fem wftver @mr wra fear?
(A) 20%
(B) 18%
(©) 16%
(D) 14%
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Q83

Q84

Q85

Q86

LM-B

A father and son working together can finish
a piece of work in 24 days. If, for the last 6
days, the father alone works, then the work
is finished in 26 days. In how many days
can the son alone finish the work?

(A) 72

(B) 70

(C) 68

(D) 66

X, Y and Z completed a piece of work
costing T 4,480, X worked for 4 days, Y
worked for 6 days and Z worked for 8 days.
Iftheir daily wages are inthe ratio 5: 6 : 7,
how much amount will be received by X7
(A) T 8OO

(B) T 1,200

(C) T 2400

(D) 3,000

A train leaves Hyderabad at 7 am and
reaches Vijayawada at | | am. Another train
leaves Vijayawada 9 am and reaches
Hyderabad 12.30 pm. At what time would
the two trains cross each other?

(A) 9:50am

(B) 9:56am

(C) 10:02am

(D) 10:08am

A tank 9 m long, 4 m wide and (1/3) m deep
isdugina field 24 m long and 14 m wide. If
earth dug out is evenly spread out over the
remaining field, the level of the field will rise
by:

(A) 4.5¢em

(B) Sem

(C) 3.5¢em

(D) 4em

&L Zriver

Jo

Q83

Q84

Q85

Q86

v foar 3 g= faae fad o @1 24
fol 91 g &R wad € | afR, siftm 6 =
foenr st @l wvar & o @l 26 @
o T BT T ® | OF el faA R
# wrl g @Y wa 87

(A) 72

(B) 70

(C) 68

(D) 66

X,Y 3R Z 3 T4,480 @ @0 AT U
&1 ol fasar) XA 4 @5 @ @, v
6fe ek 29 8 fas o fosar) ofR
e Qe 9T 5:6: 7S I o &, @
X @ ferh aa—afi feef?

A) T 800

(B) 21,200

(C) 22,400

(D) 23,000

U YIS A 799 BevEe | g
w8 3 gaw 11 99 s uged
&1 e arn Yermd! R § gas 9
qO YR el 8 afiv ey 12,30 a9
gewe wEwl 21 S WWmidd va
T @1 | w9 ar sl

(A) HAE 9:50 7%

(B) ¥ 9:56 W

(C) §a® 10:027

(D) |aE 10:08 W

24med AR 4mdS vd @aT H 9m
@dl, 4 m =er 3w (1/3) m e v @
@t war 8| afg @) g M @ wmm
W W WY @ # B W, oY g
dud freh 7 sefi?

(A) 4.5¢em

(B) Scm

(€C) 35em

(D) 4em
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Q87 Atap can fill atank in 8 h. After half of the

Q88

Q89

Q90

tank is filled, four more similar taps are
opened. What is the total time taken to fill
the tank completely?

(A) 4h46min

(B) 4h48min

(C) 4h38min

(D) 4h30min

01-01-2012 was a Sunday. What day of the
week was on 01-01-2013?

(A) Tuesday

(B) Wednesday

(C) Thursday

(D) Friday

Read the following statements and select the
correct option.

1. In60min, the minute hand gains
55 min on the hour hand.

2. Aclock is started at noon. The angle
traced by the hour hand in
Sh 10 min=150°,

(A) Only statement | is true
(B) Only statement 2 is true
(C) Both the statements are false,
(D) Both the statements are true.

Inatriangle ABC, if £ A=90°, then:
(A) SinA=SinB

(B) SinA=—SinB

(C) SinA=CosB

(D) SinA=—CosB

GlLovelir

Q87

Q88

Q89

% 7d § 62 # US S0 & W wEHar 8
I W TH B TR, SH UBR B
R R HF A9 @ a9 & 7 @
i w § g e W @
(A) 4 %2 46 fiFe

(B) 42 48 fre

(C) 442 38 e

(D) 4 %2 30 fimre

e 01-01-2012 #r YRawr o1 R
01-01-2013 = w<mE & @9 W 27
u1?

(A) HTear

(B) TER

(C) ¥R

(D) Fgwmar

Frifefire et o w2 ok af Awe
LAl

I 60 fiFe 4, e o g we & i
¥ 55 fame amt B 2

2. Ua udl SUEY B wAG AT A
ot 81 SEe 10 Free # ue @ ud
BRT a99141 T4 B9 150° 8

(A) @ad T | W 2|
(B) #9d TY+ 299 2|
(C) <rt ®eF areey &)
(D) a1 Foe T &)

o ABCH afe £A=90° & o vl
fawea g+

(A) SinA=SinB

(B) SinA=—SinB

(C) SinA=CosB

(D) SinA=—CosB




Q91

Q92

Q93

Q95

If & — 3x+ 1 =0, then the value of
2+x+(lx) + (1) will be:

(A) 7

(B) 8

©) 9

D 10

Angles A, B and C of a triangle are in
arithmetic progression. AM is perpendicular
to BC. Find the value of BM/AB.,

(A) 174

®) 13

© 12

(D) 3/4

10 is the mean of a set of 6 observations
and 5 is the mean of a set of 4 observations.
The mean of the combined set is:

(A) 7.5

(B) 8

(C) 85

(D) 9

Ifl‘ﬂ'ﬁufﬁ=035nfﬂ=='§' of C, then

A:B:Cisequalto:
(A) 14:8:7
B) 12:8:7
€) 11:6:5
D) 13:8:5

15 litres of a mixture of milk and water
contains 5% water. How much pure milk
should be mixed with it to get a mixture
containing 2% water?

(A) 20.5 litres

(B) 21 litres

(C) 21.5litres

(D) 22.5litres

ALZrEDaY

Qo1

Q92

Q93

Q95

IR P -3x+1=08 W F+x+(l/x) +
(1/x®) =1 79 T B

(A) 7

@B) 8

(C) 9

D) 10

foelt Bofs & @5 & A, Baiv C
wie A & & afi AM, BC W o
21 BM/AB &1 AF a7 €0r?

(A) 114

B) 13

© 12

(D) 34

6 Yeroil & weEa @ ARa 0% a4
ol @ wyea w1 A S ®) fafm
el @ A g

(A) 7.5

(B) 8

(C) 85

o) 9

afe AST 20% =B & {lJS-C‘:ﬁ% g

al A: B : C fma wwgen Brm?
(A) 14:8:7
B) 12:8:7
C) 11:6:5
(D) 13:8:5

15 X qu ofv oe & fsor 3 5% o
21 2% wel arenr Msor e o @ R
5o e W qu e o nfitg?
(A) 20.5#EY
B) 21dex
(©) 21.5dex
(D) 225k




Q96

Q97

A and B together can complete a task in 9
days, whereas B and C together can
complete it in 15 days. All three can
complete the task in 6 days. In how many
days will A and C together complete the
task?

1
(A) 63
B) 6
4
(C) 5:?'

3
(D) ﬁ;

Two pipes, A and B, can fill a cistern in 36
min and 45 min respectively. Both the pipes
are opened together in the cistem. After how
much time should A be closed so that the
tank is full in 25 min?

(A) 13min

(B) l4min

(C) 15min

(D) 16min

Ifa'+ b'=a* then a* + b® isequal 1o :
(A) 0

B) 1

©) a+ ¥

D) @b+ ab’

ABRRTO0E
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Q96

Q98

A3l B frese v & 9 et A gl &
waa # oafs B v C Mast 8 15
=t % ol = W 21 A U w
ey @rd 6 =1 & g o waa 81 A
R C v wrr fear a8 arl fes
ft ¥ ot a?

|
(A) ﬁ:f
(B) 6

C) 6=
(<) 7

3
(D) 65

-
% Uy AR BUs @ () @
w36 e afiw 45 fivre i W wEd
#1 g7 Q1 urgdt @1 @ (Rwed) 4w
W Wi 9 81 A1 e i aig
dg fvar wrn aiRe & g= (P 25
firre A ww g

(A) 13 fFe

(B) 14 fFe

(C) 15

(D) 16

R '+ b =q B W o+ [FHD
WHged Bim?

(A) 0

(B) I

(C) a® + 1

(D) &b+ ab®
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Q99 Which of the following organisms is a
colonial form?
{A) Amocba
(B) Chlamydomonas
(C) Polysiphonia
(D) Volvox

Q100 Identify the INCORRECT statement about
class insecta from the options given below.
(A) Ithas three pairs of legs.
(B) Ithasjoined legs.
(C) It has one pair of legs in each body
segment.
(D) Ithaslegs present in thoracic segments.

49630018

Q101 Ultra filtration and reabsorption process
takes place during the:
(A) circulation ofblood in vessels
(B) transport of gases through blood
(C) excretion and urine formation

(D) exchange of gases during respiration

Q102 How much percentage of fresh water is
available on earth?
(A) 30%
(B) 03%
(C) 03%
(D) 0.17%

LM-B 34

Q99 F=faftes 43 @9 W o @ Safaa
& wWey | wE 27
(A) dirar
(B) FoAIgSHMTH
(C) dieifamifa
(D) dierdiad

Q100 AR Gy v e # 9§ ot §9ee (@)

o He | TAd S ) ugerE B

(A) 39 o ordt & ue o §)

(B) 3% ¥ aaw 4 93 g &)

(C) 37 Ue® INR-4E 3 U ad
R gl

(D) 37 aeig @l o O Rem
vEd £

Q101 afa Fredest afv graraeivyor yfisar faw

N BRA 87

(A) aifgardt ¥ van w@an & dRE

(B) & & weaw ¥ Tl & oRags @
CALIE

(C) wewm 3R 4= Ffor @ e

(D) w95 & I et @ smem-wee
T dNH

Q102 geft ¥ fet witemar aran oie Sueer
8?7
(A) 30%
(B) 03%
(€) 0.3%
(D) 0.17%
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Q103 Which ofthe following does NOT contribute
to the pollution in water body?
(A) Heavymetal
(B) Ozone
(C) Microplastics
(D) Pesticide

Q104 Which of the following is NOT a greenhouse
gas?
(A) Water vapour
(B) Nitrous oxide
(C) Ozone
(D) Carbon monoxide

Q105 Methyl orange indicator changes its colour
at which pH value range?
(A) 3.1-44
(B) 1.0-3.1
(C) 44-5.8
(D) 58-7.0

Q106 Pharma vision 2020 is a programme to
develop India as leader in:
(A) Drug manufacturing
(B) Pharmaceutical research
(C) Providing human resource in
pharmaceuticals
(D) Drugdiscovery

Q107 Inwhich year Capt. Rakesh Sharma travelled
to space in a Soviet space programme?
(A) 1981
(B) 1982
(C) 1983
(D) 1984

LM-B
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Q103

Q104

Q105

Prefefaa 4 4 =0, oo e &
BFare wgvr 3 ATer weT A Svn?
(A) ¥t g

(B) FWAH

(C) TgmIaies

(D) Freams

fFrfafaa & & =7 @ Toeew
T &7

(A) Vi 9

(B) HiggH diewEs

(C) 3=

(D) FW= AFRTEES

fengs e wdas 5w pH W=
g MY 9T qEeT 87

(A) 3.1-44

B) 1.0-3.1

(C) 44-5.8

D) 58-7.0

Q106 wrt fawre 2020 wka @t fared sy

W 9 Refia 76 &1 e s 87
(A) afrafey fmfor

(B) afmfer srgeE

(C) shuferat & AT HaEE WeF &
(D) ahufer & &

Q107 dew ydn i A e of ¥ v wiftga

afeifYer wrlerm 9 afaRer 1 amsn & o7
(A) 1981
(B) 1982
(C) 1983
(D) 1984
SERIES-B-D




Q108

Q109

Q110

Q111

Q112

Q113

LM-B

The Goiter disease is caused due to the
hypofunction of;

(A) thyroid

(B) parathyroid

(C) thymus

(D) pituitary

The working principle of a transformer is:
(A) Self-induction

(B) Mutual induction

(C) Electromagnetic induction

(D) Lorentz Law

The wave nature of electrons was first
experimentally established by:

(A) Photoelectric effect

(B) Double slit experiment

(C) Davisson and Germer experiment

(D) Compton effect

Which is the causal organism of small pox?
(A) Rubella virus

(B) Vanola virus

(C) Ebolavirus

(D) Cytomegalo virus

T'he peptide bond is formed between:
{A) Amino groupand hydroxyl group
(B) Two hydroxyl groups

(C) Amino group and carboxyl group
(1) Amino group and carbonyl group

Sickle cell anemia is caused due to the:
(A) deficiency of folic acid

(B) Abnormal levels of haemoglobin
(C) deficiency of iron

(D) production ol less number of RBCs

ARRYG A
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Q108

Hur (nfgey) o fawa acufram @
BRY B 87

(A) 3rag Tier (urmdige) #i

(B) 99 ufr (vmige) &

(C) wrea U (ungws) &

(D) drgu ufYr (Reged) i

Q109 uRad® (giawrR) fw fagre o ol

T 87

(A) W-wv

(B) Uila wv

(C) REga-—gadm wior
(D) @ea &1 fam

Q110 geagit @t adn gl =1 wmfa s

Qill

Q112

QI13

# uEel N frud g fag B
our?

(A) warn Rgya wwE gr

(B) E—ranfon (saa fiee) wam gm
(C) efw= af ok war g

(D) @i+ yvrE grn

“as (wiid dfew) & ens ola @
o e

(A) waer faum

(B) aRavET R

(C) arer famm

(D) argevTTEr fammg

TerRs 9y o v fFas §a s @7
(A) 3 wopE sl EEgiitae wiE
(B) @1 erggifdea wie

(C) anf= wqp alv FEifTe wiE
(D) s W afv @Eife aE

gfar oiftre wworenor (Risa 9@

i) fraa sror e 87

(A) wifrs ard & &9 & s

(B) #Hranfan & srmmrg 'l & SR

(C) ote & &0 & R

(D) oirel wftREi @ Iefy ()
# 0 & arw
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Q114

Q115

g
g

The protein componentof food dietismainly S Q114 B9R WG 38R &1 WEA Uedh qa Y
responsible for: 4 faa foy goved &7

(A) energyonly (A) Taa &l & fog

(B) energy and growth (B) Sul 3w gig & forg

(C) growth and repair (C) Fllﬁ; af o & fog

(D) growthonly (D) #ad gla & fog

The Indian Institute of Chemical Technology Q115 W varfies dredfae s (gfeas
is situated in: geeicye e Sima coEon) el
(A) Ahmedabad e 27

(B) Prayagraj (Allahabad) (A) dEvETETE

(C) Hyderabad (B) WIrA (gATEEE)

(D) Kolkata (C) Bevmmg

(D) ®IESEN

Q116 Which of the following microorganisms Q116 warfemr () Fr=fafaa 4 @ o ¥
causes dysentery? HETulg & HO Bl 87
(A) Salmonella (A) HIEH
(B) Shigella (B) frran
(C) Leishmania (C) wireriforn
(D) Plasmodium (D) wranifEan
Q117 The study of all the factors that are Q117 37 il &S ST AT T HEATN &
responsible for the appearance of a particular Wi U e 91 & yaea @ fore owRa
disease is called: it &7
(A) Aetiology (A) vfenrEtan
(B) Epidemic (B) ufidfos
(C) Endemic (C) Vi
(D) Epidemiology (D) R
LM-B 37 SERIES-B-D
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Q118 Why is immunisation against common cold

NOT very effective?

(A) No vaccine against common cold has
been developed.

(B) Common cold occurs due to climatic

(C) A large number of strains of thinovirus
is present thereby making immunisation
ineffective,

(D) The causal organism for common cold
has not been identified till now.

Q119 The Nobel Prize for 2018 in the area of

Physics has been awarded for the work in
the area of:

(A) Laserphysics

(B) Black hole

(C) Magnetic resonance

(D) Gravitational wave

Q120 Which of the following food items would have

QI21

highest per-gram calorific value?
(A) Ghee
(B) Maize
(C) Rice
(D) Meat

Ultrasound waves are NOT used for which

ofthe following purposes?

(A) Tolocate its prey by a bat

(B) Toknow the depth of sea bed by a ship

(C) Todiagnose defect in internal organs
of human body

(D) Todetect aeroplane in any air space

LM-B
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Q118

W wél-gem @ faeg S

e ward @t A wer &7

(A) W wdi-gam & fReg a1 0
&t Rafha 76 5 ma &)

(B) s wii-gem woar uftftafira
@ SRV B R

(C) &7 4l A wgeasTd @ fAaf
udr fanE wwe & ot S
®I AgHrd T 2§

(D) w1 wdl-gem & fan e
wilg @ uEEF 3 a% T8 gl )

Q119 el & &= # 2018 BT A qUEHR

Fr=fefan 4 @ fvw é ¥ s o w5l
& forg R mr #7

(A) wo Hifadh & foro

(B) =& ¥1a & fog

(C) dadig sIge & fay

(D) ot qin & fow

Q120 Fr=feiftae % & fbw @ vep! 4 gwm

Qi21

wie am A W= e 87
(A) =t 9

(B) #Fw ¥

(C) amas #

(D) i

Fr=iforf 4 9 o2 @ e W

Y (IS 9) & W T8 e

Wl 87

(A) TS G AT RN @ T
GRIE|

(B) Fo—UI G WHE 9 T8 & TEd
S| &Y

(C) #rig TR & IafRRs 3t 4 <l a5
fram &

(D) ST &= A aRgE™ @1 gar S
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Q122 Identify the INCORRECT statement about Q122 M fiu vy Resi d | 90 96 @

| water cycle from the options given below. WY 7 AT YA D TEAE B
| (A) Evaporation of water facilitates cloud (A) ot @ amafyaor 9§ e @ Pt
| formation. g &)

(B) Water vapour comes in atmosphere (B) T 919 $ae ardicde & W
: through transpiration only. A @ anpiea | N B

(C) Meltingofsnow isa part of water cycle. (C) % & a9 96 & S 9
Il (D) Sunlightisalso responsible for £
! evaporation of water. (D) @& @ amefieeo @ fog g &

| gapre o) SeRETl B 8

Q123 Countof coliform bacteria provides an idea Q123 st olraopl & wen Fefetn |

| of A fad TR i U@ IFHE HEE @) 87
: (A) E coliinfection in blood (A) v § & Slarg &1 g
:, (B) presenceof E. coliin intestine (B) w3 A § slong o1 suRafd
(C) microbial contamination in river water (C) 78 & Wil ¥ 'QEFTJTT?TI HeH
(D) microbial contamination in packaged (D) fommag wiom § wewrofid) dquor
food

Q124 Solve the following. Q124 Frfaftr @ &1 T

42-2Q25+16:4x3 —4x 4)+5=2 BRI 53 — 4 x O =L
(A) =5 (A) -5
®) 4 m) 4
() -4 () =4
O) $ D)
Q125 If 1.5a=02b thenfimdthevalueof 3 Q125 3% 1.5a=026 &
h [3::—5-’?]__4_ = [3“_;"@_.&. &1 77 T4 'Y
(3a+5b) 27 (3a+5b) 27
i (A) 1 (A) |
®) - ®) -1
©) 2 (©) 2

(D) -2 D) -2
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Q126

Q127

Q128

LM-B

SECTION-4| GENERAL HINDI | 25 QUESTIONS

wowy By wamw @ Semy &7
(A) Twgoy

(B) wHEmd

(€) gEqa

(D) s

AN AT AN T AT — arE # et
W& B adm 87

(A) To9arHa®

(B) Foams

(C) Freagaras

(D) sfFTagarEs

ST I geR &1 — ey | B
o e e 87

(A) =

(B) age

(C) ¥R

(D) &

40

Q129 ‘59 #WEwEE W HieE

FLEELEY

g
e v v @ fog sfao we 97
(a) @t
®) wt
(C) wd
®) wd

TR wRu S e
Iaeg W - Raw wrm A @ faw
ST TR g |

(A) w=ifa

®) sk

©) &
(D) ™

O T aren e g |
(A) wdran
®) T
(C) o
(D) ydorar
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Q132 wm W vx fo| v - by amg &1

Q133

QI34

LM-B

TETE 87
(A) @ear
(B) @Hare
(C) wiaara

(D) F—wHare

g fiereh ar ol | — e yaR
@1 a7

(A) ImEmi®

(B) Wsei®

(C) ¥

(D) wHcarE®

Prerfereer % 9 @ W a9 ga &7

(A) 5@ TS qg o SuAnl e #|

(B) a1 iR a5 & wie g g
2l

(C) & Yo & wwaial @ Feerd

B |
(D) 4w & Il M 2 |

AR AR b
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Q135

Q136

Q137

il e, He 9 B4 o7
A& — a & da § Raa wim
¥ @i R fes amenr?

(A) rafm

(B) 3refawm

(C) ifawm

(D) awe fae

o1 @1 B EFAT—HETEY DT 3ef qa |
(A) it B B

(B) @80 Weal—wieal gl

(C) WA &1 FaH

(D) f&a 12 7 wen

uE ¥E 3R AR Y Tl — S B
7] a |

(A) worgd F 3 o Hew 81
(B) @ae Hud fw@mEr|

(C) U TIvE I |

(D) A9+ SiERT | ggHe 8197 A1

Pl
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Q138 amf s FH 1gg = F=Em FH Fr=fofaa amed &1 seggs $fo

8l e 87? AR e Ry v vt (W wean 141 -
(A) 3R gwd 143) & I €|
(B) Wiy
(C) 1+ HReE g9 R & B ofres & ve
(D) wa¥ieT yHE I 3w R, oo A @ wE
iy 8, 3R afa # 9w T8 @ ua
Q139 FWEH F WAER I &7 FR & =R fRwfer 8 gw veR
(A) #fereremor Ta 397 &t f6 s @) ggufen @ A
(B) e B Fifrer Hear & 3w ol e IR T
(C) wemdt Rig famaw 5 Ao PeRl 8, 98 g6 S o R
(D) SRI¥IEHY WHIg : eF @ ufhar ) q@ e anflw
a8 7 w87 gw el A emef 9
Q140 R FT ANT TS B AWH T wifer a8 & Rt o o o s
27 T8l 2, afews i =1 afwr &) o B g
(A) Sleamr avs Sucifer 7 T w87 and w5 8w
(B) wElerER AR 1 W9 -3 | af i aen w8
(C) =id Al &, 481 o= & gqunt daw o af & ax
(D) W& W@ U & & o 99 Ml wven 8, ofw

ol RmT & 99 9w o W g
foaman &, o auml Tvl 9@ 89 2
T TR UE St B uw difes
FTA FE A8 B, afew v vfdewg
ITOHT W gen B w0 ww
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o # @ gU w8 S @t s Q142 SURIERT TR I HEYO BT |

W B T USR ArEid S gSar & (A) =¥ g &7 U@ A1A e A #
afs u Tunf ¥ (EeR & i e Sl ¥l SRIFAT I g dIer
T8 @i Y8l & | avad # a8 oftas & e BN B, o,
b e afes Wit gl @, @ife @i
b S e e F T )
THET YT BT 81T B, ORI 2
€ 81, afes ot sl @), Fifs Wi (B) wdra a¥F Ryamr & &6 e @
el @ wified aiY Pl o @ 2 TS ARR AR A B, AR @

@ral BANT 21 8, 3R 3id § 99

st i néw 9P AET HI UTE HY AT BHNT

fRmfeeR &)
) e (©) = i fs e Y wRERE
®) w3 @1 frafy 0 A PR e & A o
(C) Wi g9 afie e % 99 U ahaar fed 8, 98
(D) ¥ & Hfde 3 TH &9 dd JTWR BN A uiea

gl

B () Wi o e S e A w
o 99 g A witsar A @R
2| @gw @ 91 A9 99 Pad
T el 8, @fes e oy ®
ST 8, 599Ut # yw ann @
s, o g9l & @ W wa
21 0 voR IEitE @ w@d
g €1 ggar & e I8
quref ¥ UHEHR 8 Al g
AR ARG ATERYT BT AT

it et @ He e 2
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Q143

Q144

Q145

Q146

LM-B

TR TEAY B IR W TR &
aure! @ wifta # W T F@ 82
(A) 3=
B) =ifdw
(C) Fafa
(D) I

e FE "W @ B uER @
JamEw 87

(A) Freagaras

(B) afregaaras

(C) Fmaras

(D) vigaer W=

TR, AR o T |
Raw v w1 & forg i Ry Rt
i W SugE v g |

(A) sfy=E=

(B) W@

(C) fyare=

(D) P

v3 & wae ¥ Prefefe # | fwsr
‘sfaET FEd £

(A) foar-g=

(B) gy

(© g

(D) 3YHT e

4850558
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Q147

Q148

Q149

Q150

Preferfe 3 9 Rewrer wainT aRvwR
e ot # weE e P,
e S @) N B wei A g &2
(A) =

®) R

(C) FfERgE
(D) wrateE Iy

IR T &1 wvar 87
(A) fawf @

(B) wafdg &1

(C) g aof @

(D) ¥ F1

o WY & IRy A gar T 0
et 8, 98 @Ed £

(A) Frgfis w@wr

(B) g @

(C) #hias waw

(D) giea &R

‘gER’ #1 Wy = ogm?
(A) T +
(B) T+ W
©€) &+

D) §F+ W
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ROUGH WORK /Y% &1 @ fore
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Read the following Instructions carefully :

Frafafaa Aidal & a@ 4 @ -

1. Out of the four alternatives for cach question, only
one circle for the correct answer is 10 be darkened
completely with Black Ball Point Pen on the OMR
Answer Sheet. The answer once marked is not liable
o be changed

The candidates should ensure that the Answer Sheet
is not folded. Do not make any stray marks on the
Answer Sheet. Do not write your Roll No. anywhere
clse except in the specified space in the Answer Sheet.
Handle the Test Booklet and Answer Sheet with care,
as under no circumstances (exeept for discrepancy in
Test Booklet), another set will be provided.

The candidates will write the correct Test Booklet
Series as given in the Test Booklet in the Attendance
Sheet.

Each candidate must show on demand his / her Admit

Card 1o the Invigilator

» Mo candidate, withoul special permission of the Center

Superintendent or Invigilator, should leave his / her

scal.

The candidates should not lcave the Examination Hall

without handing over their Answer Sheet to the

Invigilator on duty, Cases where a candidate has not

signed on the Attendunce Sheet will be deemed not to

have handed over the Answer Sheet and deall with as
an unfair means case

Use of Pencil/Electronic/Manual Caleulator is

prohibited.

The candidates are governed by all Rules and

Regulations of the Commission with regard 1o their

conduct in the Examination Hall. All cases of unfair

means will be dealt with as per Rules and

Regulations of the Commission.

10, After Examination is over, candidate has to return his
Answer Sheet 1o invigilator, Invigilator will hand over
the Candidate’s copy to candidate, then only
candidate is allowed to leave the examination hall,
Candidate is only allowed to take Candidate's copy of
answer sheel.

1. Candidates are not allowed to take Test Booklet with

them. They have to submit the Test Booklet to the

lnvigilator after the exam,

TSR

1. Weld geq & fow fRr ) an Resi 4 4
w& I @ f 3 e, AR, 9T = W
Fad TS N 31§ T N i A uige
U & W | UE AN IR difda v o B
1% I Fuen Af o wwor 8

. gl gifee oY @ g uEE B e

WY U9 9 W &% 3 e 9 a3l

el s sEEie IR vEe § Puifta

™ & e sma= 9 fod

wdlen IR v ST wEE @ ergde

war =, @ife e o oRfRefy 4 @aa

wdlen giterst § & &1 e o) g e

e (9 OTR UAE SuEE A8 SO

AT |

. e gt # €l gden gftee H9a

@ gdemfl Wt afie | Qulefy o 9

fordd |

I8 W W TaE T, s shse @

YT 999 y=S fam

. ST AT aer srrdere A Ry sy @
faem @ afemel sroem e a B

. WU TR JONE B AT IR U f2v
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